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Question Number : 1 Question Id : 6154757515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



Identify those features of learner behaviour which are associated with understanding level

teaching :

(a) The student renders facts and information 1n his‘her own words

(b) The student immediately recalls the facts taught

(c) The student gives his / her own examples 1n order to explain a point

(d) The student interprets the meanings In various wavs

(e) The student correctly reproduces the sequence taught

Select vour answer from the following options :

(1) {a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (d) and (e) (4) (a) (c) and (d)
Options:

B1547523201. 1
B1547523202. 2
61547523203, 3
61547523204, 4

Question Number : 1 Question Id : 6154757515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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B1547523202. 2
61547523203, 3
61547523204, 4

Question Number : 2 Question Id : 6154757516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following sequence depicts outcome based curriculum design for college level
teaching programmes?

(1) Content, teaching-learning, learning outcomes, evaluation

(2) Desired learning outcomes, content, teaching-learning, assessment and evaluation

(3) Teaching-learnming, content. learning outcomes. assessment and evaluation

(4) Content. learning outcomes desired. teaching-learning, evaluation and assesament
Options:

615475232051
61547523206, 2
E1547523207. 3
E1547523208. 4

Question Number : 2 Question Id : 6154757516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547529205, 1
61547529306, 2
61547529207, 2
61547529208 4

Question Number : 3 Question Id : 6154757517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a key to effective teaching behaviour?

(1) Teacher mediated dialogue which helps learners restructure what 1s being learned

(2) Ehcting clarification of an answer given by students

(3) Soliciting additional information about a response of students

(4) Promoting low error rate (high success) contributive to increased levels of students’

self esteem and positive attitude

Options:

61547529209, 1
61547529310 2
61547529211, 2
61547529212 4

Question Number : 3 Question Id : 6154757517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529209, 1
615475292100 2
61547529211,
61547529312 4

Question Number : 4 Question Id : 6154757518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

For encouraging ‘learning to learn’. the emphasis on which of the following would be most
appropriate?

(1) Use of educational technology gadgets

(2) Organizing teaching to increase opportunity for transfer of learning

(3) Assigning tasks to be mastered by students

(4) Frequent tests to be conduted

Options:
615475292131
61547529314 2



E1547523215. 3
B1547523216. 4

Question Number : 4 Question Id : 6154757518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547529213, 1
61547529314 2
61547529215 2
61547529216 4

Question Number : 5 Question Id : 6154757519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following modes of assessment the potential for increasing intrinsic

motivation 1s optimum?

(1) Formative assessment based evaluation

(2) Computer testing based assessment

(3) Summative assessment

(4) Norm-referenced based testing assessment
Options:

E15475239217. 1
B15475239218. 2
61547523215, 3
615475232320, 4

Question Number : 5 Question Id : 6154757519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475292171
E1547529218. 2
61547529219,
61547529220 4

Question Number : 6 Question Id : 6154757520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following research methods, an empirico-inductive paradigm 1s employed?

(a) Ethnographic probe
(b) Case study method
(c) Ex post facto method
(d) Narrative method

(e) Experimental method

Select your answer from the options given below :

(1)  (a). (b) and (c)
(2) (b). (¢) and (d)
(3) (a). (b) and (d)
(4) (c). (d) and (e)

Options:

61547529321, 1
61547529322 2
61547529222 2
61547529224, 4

Question Number : 6 Question Id : 6154757520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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15475292211
1547529322, 2
15475249223 2
15475249224, 4

Question Number : 7 Question Id : 6154757521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The probability sampling procedures are mostly used in which of the following researches?

(a) Survey researches

(b) Experimental researches

(c) Phenomenology based researches

(d) Action researches

(e) Correlational design based researches

Select vour answer from the follwoing options :

(1)  (a). (b) and (e)
(2)  (a). (b) and (c)
(3) (b). (c) and (d)
(4) (c). (d) and (e)

Options:

61547529325, 1
61547529326 2
E1547529227. 2
61547529228, 4

Question Number : 7 Question Id : 6154757521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529325, 1
61547529326 2
61547529327, 2
E1547529228. 4

Question Number : 8 Question Id : 6154757522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The style of writing a thesis and research article has to be

(1) Creative 1n so far as diction is concerned

(2) Scientific in respect of language used

(3) Mechanical in so far as placement of fizures and tables 1s concerned
(4) Vamable in respect of referencing
Options:

BE15475292329. 1
B1547523230. 2
B1547523221. 3
61547523232, 4

Question Number : 8 Question Id : 6154757522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529229, 1
61547529220 2
61547529331, 2
61547529332 4

Question Number : 9 Question Id : 6154757523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The application of which of the following ICT in research will ensure wider coverage and

accessibility of needed information?

(1) LAN (2) WAN
(3) Skype (4) Intranet
Options:

B1547523233. 1
61547523224, 2
615475239235 3
61547523356, 4

Question Number : 9 Question Id : 6154757523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE15475239233. 1
61547523224, 2
615475239235 3
E1547523336. 4



Question Number : 10 Question Id : 6154757524 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A researcher while reporting his /her research findings gives weightage to stake holder’s
perspective 1In a qualitative research theme. This will involve

(1) Violation of ethical norms

(2) Bias and prejudices

(3 Disclosure of reality situation
(4) Inappropriate interference of others in research
Options:

61547523237, 1
61547529328, 2
61547529339, 3
E15475239240. 4

Question Number : 10 Question Id : 6154757524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547523337. 1
E15475239228. 2
B15475239239. 3
B1547523240. 4

Question Number : 11 Question Id : 6154757525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the hinear model of communication. the expected result 1

(1) Psvchological disruption (2) Removal of physical noise
(3) High level of obstruction (4) Semantic accuracy
Options:

BE1547529241. 1
61547529242 2
615475239243, 3
61547529344, 4

Question Number : 11 Question Id : 6154757525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547523241. 1
61547529242 2
61547529342, 3
61547529344, 4

Question Number : 12 Question Id : 6154757526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An important element in classroom communication is

(1) Physical infrastructure {2) Fields of experience
(3) Conditioned feedback {4) Linearity of Message
Options:

E1547529245. 1
B15475292346. 2
B1547523247. 3
61547523248, 4

Question Number : 12 Question Id : 6154757526 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547529245. 1
E1547529246. 2
B15475239247. 3
61547529248, 4

Question Number : 13 Question Id : 6154757527 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The concept of proximal development. related to educational communication. was developed
by

(1) Sigmund Freud (2) EKurt Lewin
(3) Lev Vygotsky (4) Alberk Bandura

Options:



BE15475292459. 1
61547523250, 2
61547523251, 3
61547523352, 4

Question Number : 13 Question Id : 6154757527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154752924591
61547523350, 2
61547523351, 3
E15475285352. 4

Question Number : 14 Question Id : 6154757528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Effective oral communication demands

(a) Self-confidence

(b) Long pauses

(c) Consistent practice

(d) Business like approach
(e) Enowing the audience

(£) Aggresaive questioning

Choose the correct answer from the following option :

(1) (b). (c) and (d) (2) (c). (d) and ()
(3) (d). (e) and () (4) (a). (c) and (e)
Options:

61547523353, 1
E1547529554. 2
B15475232355. 3
B15475232356. 4

Question Number : 14 Question Id : 6154757528 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547523353. 1
E15475239254. 2
615475232355, 3
615475232356, 4

Question Number : 15 Question Id : 6154757529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements - one i1s labelled as Assertion (A) and the other 1s labelled as

Reaszon (R):

Asszertion (A): The spoken and written words are two media of many available for

communication in the classroom

Reason (R) : Communication through any medium does not happen through attitudes of

encoders

In the hight of the above two statements choose the correct option from the choices given

below:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. and (R) 1s not the correct explantion of (A)
(3 (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:



B154752392357. 1
61547523258, 2
61547523259, 3
61547523360, 4

Question Number : 15 Question Id : 6154757529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547529357, 1
61547529358 2
£1547529259 =2
61547529260, 4

Question Number : 16 Question Id : 6154757530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If A 1z directly proportional to B: B 1z inverszely proportional to C and C 1s directly
proportional to D. then

(a) A 1s inversely proportional to D

(b) A 1s directly proportional to D

(c) A 1s directly proportional to C

(d) A 1z inversely proportional to C

Choose the correct answer from the options given below:

(1) (a) and (d)
(2) (b) only
(3) (a) only

(4) (c) and (d)

Options:

61547529261, 1
61547529362 2
61547529363 2
61547529364 4

Question Number : 16 Question Id : 6154757530 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ifz A, B = Hien Tl 2; B, C 1 Sewaad! 7 311 C, D =1 =i FEea 7, 9

(@ A D= =eaETd 2
®) A, D e TaETE
€ A, C = i gaaEt 7

d) A, C = A B
o2 T Taepeal H ® TE SO =8 A

(1) (2) #7 @)
(2) A (b)
(3) FE4 (a)
@ (o) ¥ (@

Options:

61547529361, 1
E1547529262. 2
61547529262 5
61547529264, 4

Question Number : 17 Question Id : 6154757531 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Average of two numbers a and b 13 22 and 60% of a = 50% of b. What 1s the product of
aand b ?

(1) 160 (2) o84
(3) 480 (4) 484
Options:

61547523365, 1
61547523566, 2
E1547523367. 3
E1547523268. 4

Question Number : 17 Question Id : 6154757531 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 160 (2) 384
(3) 450 (4 434
Options:

E1547523565. 1
E1547523566. 2
B1547523267. 3
61547523268, 4

Question Number : 18 Question Id : 6154757532 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

B 15 the only daughter of maternal erandmother of A. How 13 A related to B?

(1) Sister (2) Daughter
(3) Cousin (4) DMother
Options:

BE154752326%9. 1
B1547523270. 2
61547523271, 3
E15475239372. 4

Question Number : 18 Question Id : 6154757532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE154752326%9. 1
B1547523270. 2
G15475239271. 3
B1547523372. 4

Question Number : 19 Question Id : 6154757533 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a certain code "CREDIT" 1z written as "EPGBER" and in the same code. "DEBIT" will be
written as

(1) FDCGV (Z2) TFGCDV
(3) FCDGV (4) FCDVG



Options:

615475293731
61547529374 2
E1547529275 2
61547529276, 4

Question Number : 19 Question Id : 6154757533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) FCDGV (4) FCDVG
Options:

6154752323731
61547529374, 2
61547523375 3
E15475232376. 4

Question Number : 20 Question Id : 6154757534 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term of the series 1s

1D3, 3H5, 5L7, g

(1) TP9 (2) TRY9
(3) TN9 4 TL9
Options:

61547523377, 1
61547523378, 2
E1547523279. 3
E1547523280. 4

Question Number : 20 Question Id : 6154757534 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523377, 1



B15475232378. 2
B15475232375. 3
61547523280, 4

Question Number : 21 Question Id : 6154757535 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The attributes shared by all and only those objects to which a term refers 1s known as

(a) The intention of a term
(b) Connotation

(c) Denotation

(d) The extension of a term

Choose the correct code from below:

(1) (d) only (2) Both (a) and (b)
(3) Both (c) and (d) (4) (c) only
Options:

615475239381, 1
E154752395382. 2
E15475239283. 3
61547523284, 4

Question Number : 21 Question Id : 6154757535 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547523281. 1
61547523282, 2
615475239383, 3
61547529354, 4



Question Number : 22 Question Id : 6154757536 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to traditional square of opposition if two propositions are so related that they
cannot both be false, although they may both be true 1s called:

(1) Sub altern (2) Sub contraries
(3) Contradictory (4) Contrary
Options:

E15475235385. 1
E1547529286. 2
B1547523287. 3
61547523388, 4

Question Number : 22 Question Id : 6154757536 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TP Sy @ % FEE 902 21 ufasieal 38 TR H Hetad 7 " 261 39T 99 5 gl 2 9w d

(1)  37iiEE (2) wu-fagim
(3)  TemramwE (4) Taufa
Options:

51547523285, 1
615475232386, 2
G1547523387. 3
61547523388, 4

Question Number : 23 Question Id : 6154757537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

An informed fallacy in which the conclusion of an argument 1s stated or assumed 1n any one
of the premises 1s known as:

(a) Begging the question
(h) Circular argument
(c) Isnoratio elenchi

(d) Petitio principii

Choose the correct option from the following:

(1) (a). (b) and (d) (2) (a) and (c)
(3) (c) only (4) (b). (c) and (d)
Options:

61547523289, 1
61547523330, 2
615475233391, 3
E15475295352. 4



Question Number : 23 Question Id : 6154757537 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
UF UH] AR adar, T9EH A HURY R TREl U SR G 3 TR B AW o W B,
fAeATTRa o o ToReehl g ST ST B
(a) HTHTATTT
(b)  HFTR FAFFIHZ
(c) AR T

(d)  ATHHEEN

fr=ferfaa 9 9 92t faweg =1 =21 Fifao

(1) (a). (b) 741 (d) (2) (a)d4 (o)

(3) a4 (c) (4)  (b). (c) 747 (d)
Options:

61547523289, 1
61547523330, 2
615475233391, 3
E15475295352. 4

Question Number : 24 Question Id : 6154757538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s not correct with reference to anumana according to classical Indian
school of logic?

(1) Linga/Sadhana 1s the middle term (2) Paksa 1s the minor term

(3) Sadhya 1s the major term (4) Hetu 1s the minor term

Options:

61547529293, 1
61547529394 2
61547529395 2
61547529396 4

Question Number : 24 Question Id : 6154757538 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A I TR T W % SEN, A % G2l H a9 5 R H wE w2 v

(1) o /aes e 0g 2 (2) wE T A UE 2
(3) WTI TH UH@ R R 4 FTFAMEEE
Options:

6154752323593 1



B15475292394. 2
615475232385 3
615475232396, 4

Question Number : 25 Question Id : 6154757539 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two premises with four conclusions drawn from them. Which of the following
1s valid conclusion drawn from the premises?

Premises :
(1)  All diaries are coples
(1) No copy 1s book

Conclusions :
(a) Some diaries are books (b) Some books are coples
(¢) No book 1s copy (d) No diary 1s book

Choose the correct option :

(1) (a) and (b)
(2) (c) and (d)

(3) (b) and (c)

(4) (a) and (d)
Options:
61547529397, 1
61547529398, 2
61547529399, 3
61547529400, 4

Question Number : 25 Question Id : 6154757539 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HATIR 797

(1) =t sEfE wiE E
(i) 2 ot Fd T T R

T
@ % s B
(c) T it g Ft TE F (d) = i == T=E T A

= ° § T3 99 =1 =94 Sl -

(1) (a) 747 (b)
(2) (c) 74T (d)
(3) (b) 74T (c)
(4) (a) 941 (d)
Options:
1547529323971
E15475293298. 2

61547529399, 3
E1547523400. 4

Sub-Section Number: 2
Sub-Section 1d: 615475334
Question Shuffling Allowed : Yes

Question Id : 6154757540 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension

Consider the table given below for total exports of six countries over five yvears (1n crores of
rupees) and answer the questions 26-30:

'\\Year 2008 | 2009 | 2010 | 2011 | 2012

Gounﬁ@*ﬂ
A 20 40 60 45 90
B 30 25 15 50 100
C 50 55 70 20 65
D 45 60 20 15 25
E 60 50 348 100 110
F 24 40 60 TS 120

Aszume : profit = Export — Import.

Sub questions



Question Number : 26 Question Id : 6154757541 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the profit of all the countries together in the vear 2012 if the total imports of all
the countries together was rupees 385 crore?

(1) Rupees 510 crore (2) Rupees 280 crore
(3) Rupees 160 crore (4) Rupees 125 crore
Options:

E1547523401. 1
61547523402 2
61547523403, 3
61547523404, 4

Question Number : 27 Question Id : 6154757542 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the ratio of export to import 1n country F and country D are 4 : 1 and 1 : 2 respectively in
the year 2008, then what 1s the total import of country F and D together in that particular
yvear? (In crores of rupees)

(1) 14 (2) 65
(3) 92 (4) 96
Options:

61547523405, 1
E1547523406. 2
E1547523407. 3
61547523408, 4

Question Number : 28 Question Id : 6154757543 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the export of country A in the yvear 2013 1s 20% more than the total export of country B in
2011 and the export of country E 1n 2010 together, then what was the profit of A in the year
2013 1f 1ts import was Rupees 92 crore for that year? (In crores of rupees)

(1) 10 (2) 22
(3) 34 (4) 46
Options:

61547523405 1
61547523410, 2
61547529411, =
E15475294172. 4

Question Number : 29 Question Id : 6154757544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



By what precent 1= the average export of country E over all the given vears more than the
average export of country C over all the yvears?

7 7
1) 131 9) 1419
3 ¢ T i
(3) 13%% (4) 14%%

Options:

61547529413, 1
61547529414 2
61547529415 =
61547529416 4

Question Number : 30 Question Id : 6154757545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the percentage increase in the export of all the countres together from the year
2009 to 20117

(1) 35%% (2) 38%%
(3) 40%% (4) 38% %

Options:

615475294171
61547529418 2
61547529419 =
61547529420 4

Question Id : 6154757540 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension

9T A9 SR B 2 % T FAE (FE 3. ") F A= o arferm ® B A SR e 26 5 30
EiaE

EE 2008 | 2009 | 2010 | 2011 | 2012

;'JI'.'-'—[

A 20 | 40 | 60 | 45 | 90

B 30 25 15 50 100

C 50 55 70 | 90 65

D 45 60 20 15 25

E 60 50 35 100 110

F 24 40 60 75 120

o =190 @8 = A — A



Sub questions

Question Number : 26 Question Id : 6154757541 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A 2012 = i 20 1 e HeAE ha W 1 o1 s weft 2 1 Fer A 385 WS A1
(1) 5103 %. (2) 280 FTE

(3) 160 Fs 7. (4) 125 F3 %
Options:

61547523401, 1
E1547523402. 2
B1547523403. 3
61547523404, 4

Question Number : 27 Question Id : 6154757542 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gz ad 2008 AN F AR A D H 2109 SHId %A% 4 : | s 1 : 22 Al sHiad gy F sl D

[

H 44 (2) 6
3 92 (4) 96

Options:

61547529405, 1
61547529406, 2
61547529407 2
61547529408, 4

Question Number : 28 Question Id : 6154757543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ifz @9 2013 4 23 A %1 3= 29 B %1 2011 ¥ 30 27 E %1 2010 § U 70 Fer @ o 20 viae
AT 2 A A 1 2013 H Pl a1 @9 A1 IS SHR 39 99 ATE 92 HUS T, AT7

(1) 10 () 22
(3) 34 (4) 46
Options:

61547523409 1
61547523410, 2
61547529411, =
BE1547529412. 4

Question Number : 29 Question Id : 6154757544 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= A9 = 20 29 E 1 S e 2 C % s i (39 99 S ) o e st 2 7

7

(1 13-

= 1

3) 132%
7

Options:

61547529413, 1
61547529414 2
61547529415 5
61547529416 4

Question Number : 30 Question Id : 6154757545 Question Type: MCQ Option Shuffling : No Display Question Number

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

7
9 14-¢
) T
(4) 14%%

T4 2009 & 2011 7 Tl T F AAE H Fe AT hl g

(1) 35%%
(3) 4D§%

Options:

61547529417, 1
61547529418 2
£1547529419 2
61547529420, 4

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

Question Number : 31 Question Id : 6154757546 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

represents raw facts, whereas

g 58 &7
@ 33%%
(4) 38% %

3
615475335
Yes

(1) Information. Bits
(3) Data. Information

Options:

61547529421, 1
61547529422 2
61547529423 =
61547529424 4

(2) Records. Bytes
(4) Information, Reporting

1s processed meaningful data.

Yes

Yes



Question Number : 31 Question Id : 6154757546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT 929 & Fw Tfea 3790 ATRST 7
(1)  ¥=r, foed (2) Towiza, sEzE
(3) =@, gEAl (4)  T=, Toanten

Options:

61547529421, 1
61547529422 2
61547529423 =2
61547529424 4

Question Number : 32 Question Id : 6154757547 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following storage devices stores maximum amount of data?

(1) Compact disc (2) Floppy disc
(3 Hard disc (4) Magnetic optic disc
Options:

615475234251
E154752342E. 2
E1547523427. 3
E1547529428. 4

Question Number : 32 Question Id : 6154757547 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frtefiaa 9 9 FF-H Gu=v A FEEE AR SUEE il B 7

(1) =i o0 (2) el 2T
(3) =S ze= (4) Hafzw s1ifes 20
Options:

61547529425 1
E1547523426. 2
B15475239427. 3
B1547523428. 4

Question Number : 33 Question Id : 6154757548 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a computer based system that stores and manipulates data which
are viewed from a geographical point or reference?

(1) Database System (2) Geographical Information System
(3) Geographic Syzstem (4) Software System
Options:

615475234259 1
61547523430, 2
E15475239421. 3
B1547523432. 4

Question Number : 33 Question Id : 6154757548 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frtatEd % 3§ FHA-H1 UF FOg ARG IO 2 7 3 ATHRS] i GulEd FAl 7 AR T ASars
%! E; "';‘: i:l: -r-lx :'; EiEq‘-—ui -j':[aa-[ ]:i -a.ﬁiq'_) j_E‘ q-r EII -:::! -J;ii J] ;I % .;'

(1)  =reEy ey (2) wiifers geaT TomE
(3)  HIITeT womed (4) ETFEEE s
Options:

615475234259 1
61547523430, 2
E15475239421. 3
B1547523432. 4

Question Number : 34 Question Id : 6154757549 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

VDU stands for

(1) Virtual Display Unit {(Z) Virtual Detection Unit
{3) Visual Display Unit {(4) Visual Detection Unit
Options:

61547523433 1
61547523424, 2
61547523435 3
61547523436, 4

Question Number : 34 Question Id : 6154757549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



VDU f=fctfiga 1 4 frar dfem am 27

(1) =g feaw e (2) FTEAA Tzzem g
@)  fagera fsut giwe (4) TaE== TeFA I

Options:

61547529433 1
61547529434 2
61547529435 =2
61547529426, 4

Question Number : 35 Question Id : 6154757550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

International Computer Security Day 1s observed on

(1) 18% July (2y 30 November
(3) 28d December (4) 23" December
Options:

61547523437, 1
61547523438, 2
E15475239439. 3
E15475239440. 4

Question Number : 35 Question Id : 6154757550 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1) 18 F=E (2) 30 TR
3) 2 foEsm (4) 23 fEHe
Options:

E1547523437. 1
E1547523438. 2
61547523435, 3
61547523440, 4

Question Number : 36 Question Id : 6154757551 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one labelled as Assertion (A) and the other i1s labelled as

Reason (R).
Assertion (A):  The impact of natural disasters does not depend on socio-economic factors.
Reason (R) : Natural disasters do not diseriminate between people of a society and

other communities.

In the light of the above two statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1= false but (R) 1s true

Options:

51547529441, 1
61547529442 2
61547529442 5
61547529444 4

Question Number : 36 Question Id : 6154757551 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= a1 e 237 T — v afiuE (A) 311 550 #eE 9% (R) & =9 F 2

ATHRI (A) : TR AT % TS WS- AT HEH 9 A TE e 2

T (R) : TR AT TETS 1 S THEE A % s 29 TE e 2

IO 31 FYA F SER W HAl {97 99 I

(1) (A 3R @®) A =F 2 330 R). (A) F o8 = 2
(2) (A 3R R) ZH T 7 #E (R). (A) F TE =men w1 e
(3) (AT &, = (R) e =

4 (AT, T (R) 7B

Options:



BE1547529441. 1
B1547523944%2 2
61547523443 3
615475239444, 4

Question Number : 37 Question Id : 6154757552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under Kyoto Protocol. the first committment period for reduction of greenhouse gas
emissions by 37 industrialized and European community countries was :

(1) 1997 — 2005 (2) 2000-2012
(3) 2008 — 2012 (4) 2005-—2015
Options:

61547523445 1
61547523446, 2
615475239447, 3
E15475239445. 4

Question Number : 37 Question Id : 6154757552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TS TIEHRIe & Aad 37 ARG dT FdE THEE F 99 g #hd TE TH Soaed & forn Tum
iaEgT A0 F4 o7 7

(1) 1997 — 2005 (2) 2000-—2012
(3) 2008 — 2012 (4) 2005-2015
Options:

E1547529445. 1
E1547523944E. 2
B1547523447. 3
51547523448, 4

Question Number : 38 Question Id : 6154757553 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Exposure to noise pollultion can cause
{(a) Weakening of immune system
(b) Sleeplessness

(c) Speech interference

(d) Increase in blood pressure

(e) Shaft 1n threshold of hearing

() Respiratory problems

Choose the correct option from those given below :

(1) (a). (b). (c). (e) and () (2) (b). (c). (d) and (e)
(3) (b). (c). (d). (e) and (f) (4) (a). (b). (c). (d). (e) and (f)
Options:

B15475234459. 1
61547523450, 2
61547523451, 3
61547523452, 4

Question Number : 38 Question Id : 6154757553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sﬂi:l giaéqu % qu{unqﬁl.-' :l

(a) T A 99 FEEE 5 S R
(b) A

(c) a9 Faadl

(d) =T o g

(e) %@ HmT § "Zed

() TaE el FEE

ffeafiaa 8 o 981 fawey T

(1) (a). (). (). (e) =T B 2 (). (©), (d) =R (e)

(3)  (b). (c). (d). (e) 3T () @)  (a). (). (©). (d). () 31T (f)
Options:

E1547529445. 1
E1547523450. 2
B1547523451. 3
61547523452, 4

Question Number : 39 Question Id : 6154757554 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The potential of geothermal power in India 1s approximately

(1) 10 GW (2) HS5GW
(3) 20 GW (4) 20 GW
Options:

61547523453 1
61547523454, 2
61547523455, 3
E1547523456. 4

Question Number : 39 Question Id : 6154757554 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

WA § TR e y-aniE fae =i e 27

i [}

(1) 10 Trmare (2) 5 TFTETE
(3) 20 TmEe (4) 25 TmER
Options:

E1547523452. 1
E1547523454. 2
B1547523455. 3
B1547523456. 4

Question Number : 40 Question Id : 6154757555 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following air pollutants are produced from room deodorizers?

(1) Inhalable particulate matter

(2) Carbon monoxide

(3) Ozone

(4) Volatile organic compounds
Options:

B1547523457. 1
61547523458, 2
61547523455, 3
E1547523460. 4

Question Number : 40 Question Id : 6154757555 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

Yes

Yes

Yes



Correct Marks: 2 WrongMarks: 0

fretefaa & & FH-= 979 TguE F& Fraenes (F9 fearsmess) ¥ 49y w5 2 0

(1)  va&E Fomsr 951d
(2)  EA FHIATEES
(3) AT

() =TS FEEE A

Options:

61547529457, 1
61547529458 2
£1547529459 =2
61547529460, 4

Question Number : 41 Question Id : 6154757556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are the statements — one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (4) : Considering higher education as a non-priority for the state is linked to the
withdrawal of public funding to 1t.

Reason (R) : The pressure of free enterprise system in this regard 1s an attempt to

expand their educational market.

In the light of above two statements, choose the correction option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:
61547529461, 1

E15475234E62. 2
E1547523463. 3
B1547523464. 4



Question Number : 41 Question Id : 6154757556 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= 21 =y 5 = E
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(1) (A 3% (R) =4 =81 & 997 (R), (A) =i 7 == &

(2)  (A) 3R (R) IH #2817 997 (R), (A) =i "Fi =5 77 2

(3) (A) el Tr"' AT (R) =1 2
(4) (A 7Ted 2, @ (R) TR 3

Options:

61547529461, 1
61547529462 2
61547529463 o
61547529464 4

Question Number : 42 Question Id : 6154757557 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

The community colleges have provisions for
(1) Single admission

(2) Concurrent admission

(3) Self-financing system

(4) Teaching at home

Options:

61547529465, 1
61547529466, 2
61547529467 2
E15475294E68. 4



Question Number : 42 Question Id : 6154757557 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT ATl | Taa #

(1)  T%a 7=

(2)  HHadl 9E
(3) T T

(4) o7 g fErer

Options:

61547529465, 1
61547529466, 2
61547529467, o
61547529468, 4

Question Number : 43 Question Id : 6154757558 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

An institution desirous of applying for deemed to be university status must have been in

existence for at least

(1) 5 Years (2) 10 Years
(3) 20 Years (4) 25 Years
Options:

E15475239469. 1
B15475239470. 2
B1547523471. 3
G154752347%2. 4

Question Number : 43 Question Id : 6154757558 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

UH HEAH A1 AIA v % 2 % (o SEET S 9l B, ® A Phed @61 9 HAftacs 4 B

1) s (2) 10 =
(3) 2099 (4) 257

Options:



E15475239469. 1
B1547523470. 2
61547523471, 3
E154752347%2. 4

Question Number : 44 Question Id : 6154757559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The WTO negotiation on higher education deals with 1ssues hike :

(a) education as a free service

(h) vigorous social affirmation in developed countries
(c) assigning important role for civil society

(d) education as a trade

(&) education as a commodity

(f) withdrawal of public sector from higher education

Choose the correct answer from the options given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (b). (c) and (e) (4) (d).(e) and (D
Options:

61547523473 1
61547523474, 2
61547523475 3
E154752347E. 4

Question Number : 44 Question Id : 6154757559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= Toren = gy °§ faga = =@ i amat § Feteiag T o= i

(@) e Fues 5 2

(b)  Taefad 2= 9 SeETEYol WETTE HEAT
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Hel T 1 999 HifAw -

1)  (a). (¢) ¥ (d) (2 (a), (b) 77 (d)
(3)  (b). () #F (&) (4)  (d). (e) 3 (B
Options:

615475234731
61547523474, 2
61547523475 3
E1547523476. 4



Question Number : 45 Question Id : 6154757560 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The objective of Indian Government behind setting up of HEFA (Higher Education Finance
Agency) 1= to provide financial support for :

(1)
(2)
(3)
(4)

Options:

Improvement of infra structure in premier institutions of the country
Research projects of faculty
Research collaboration between Indian and Foreign Universities

Research collaboration between Indian Institutions and Industry

B1547523477. 1
61547523478, 2
615475234743, 3
61547523450, 4

Question Number : 45 Question Id : 6154757560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T2 (F=3ar Toren fa=ig sAfaor) =1 SO & Ui 9T S0RT ) I2vd T gEEdar UEE A E

(1)
(2)
(3)
(4)

Options:

291 = THE TEAH] S HTEE § g9W 7
T 1 g it =

A i faeet favataaremat & = oy J=am 29

B15475239477. 1
B1547523478. 2
615475234759, 3
61547523450, 4

Sub-Section Number: 4
Sub-Section 1d: 615475336
Question Shuffling Allowed : Yes

Question Id : 6154757561 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Question Label . Comprehension



Read the following passage carefully and answer the questions that follows:

Under the labour theory of value, the value or price of a commodity depends exclusively on
the amount of labour going into the production of the commodity. This implies that either
labour is the only factor of production or labour is used in the same fixed proportion in the
production of all commodities and that labour is homogeneous, i.e. of only one type. Since
neither of these assumptions is true, we cannot base the explanation of comparative
advantage on the labour theory of values specifically, labour is not the only factor of
production. nor is it used in the same fixed proportion in the production of all commodities.
For example. much more capital equipment per worker is required to produce some products,
such as steel, than to produce other products such as textile. In addition, there is usually
some possibility of substitution between labour, capital and other factors in the production of
most commodities. Further more, labour is obviously homogeneous but varies greatly in
training, productivity and wages. At the very least, we should allow for different
productivities of labour. Indeed. this is how the Ricardian theory of comparative advantage
has been tested empirieally. In anv event, the theorv of comparative advantage need not he
based on the labour theorv of value but can be explained on the basis of the opportunity cost
theory which is acceptable. To be noted is that Ricardo himself did not belive in the labour
theory of walue and used it only as a simple way to explain the law of comparative
advantage. The law of comparative advantage is sometimes referred to as the law of
comparative cost.

Sub questions

Question Number : 46 Question Id : 6154757562 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What does the Labour Theory of Value imply?

(1) Labour 1= an extra factor in production
(2) Labour has a limited role in production
(3) Labour has the highest value 1n production

(4) Commodity price and labour value are directlv related

Options:

615475294581, 1
61547529482 2
61547529482 =2
61547529454, 4

Question Number : 47 Question Id : 6154757563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the Labour Theory of Value. when it comes to production of commodities. engagement of
labour 13

(1) heterogeneous (2) 1n fixed proportion
(3) in varied proportion (4) capital intensive
Options:

61547523455, 1
61547523456, 2
E1547523487. 3



E1547523488. 4

Question Number : 48 Question Id : 6154757564 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Products like steel need

(1) leas workers (Z) more workers
(3 more machines (4) less machines
Options:

E15475239489. 1
E15475239430. 2
B15475234591. 3
61547523452 4

Question Number : 49 Question Id : 6154757565 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Ricardian Theory 1s examined on the basis of

(1) labour value (2) homogeneity of labour
(3) different levels of labour productivity (4) law of possibility
Options:

BE1547529453. 1
61547523454 2
61547523435 3
61547523436, 4

Question Number : 50 Question Id : 6154757566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the author of the passage

(a) labour 1s the basis of commodity pricing

(b) labour can be substituted with capital

(c) less capital equipment per worker 1s required for products like textile
(d) opportunity cost can help explain comparative advantage

(e) Ricardo used the labour theory of value only to explain comparative cost
(D) Ricardo was not sure of his own theory

Choose the correct option :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (d). (e) and (£ (4) (). (d) and (e)
Options:

615475234571
615475234358, 2



E15475234395. 3
61547523500, 4

Question Id : 6154757561 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension
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Sub questions

Question Number : 46 Question Id : 6154757562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
oeg % 49 TagE #1 wn A@g 27
(1) %™, Sc772 H U =l w0 E
(2)  IemeA § 9m i v Himg girw 2
(3)  I0UEA § 4W F I=q9 T4 7
(4) =% gea AN 99 T 1 HE geEe w
Options:
61547529451, 1
61547529482 2

61547523453, 3
615475239454, 4



Question Number : 47 Question Id : 6154757563 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o1 o oH Tagm | 54 TG % Seqed i wd ATt 2, 91 49 AT FA BT

(1) o= (2) Tarfia aaFE
(3)  TafEa ma=TE (4) I "EA
Options:

61547523455, 1
E1547523486. 2
E1547523487. 3
61547523488, 4

Question Number : 48 Question Id : 6154757564 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) FH AHE =l (2) Al g Fi
(3) = HufAT i (4) F9 qofET H
Options:

E15475239489. 1
E1547523430. 2
61547523451, 3
615475234352 4

Question Number : 49 Question Id : 6154757565 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

sl Tagra &1 =79 s »7an ™ = =t 27

() = a (2) #m = wEgEEl
(3) %\ FoUEHT (AT T (4) T (sEE) = T
Options:

51547523452 1
615475239434, 2
615475239435, 3
E15475234356. 4

Question Number : 50 Question Id : 6154757566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a). (b) =77 (c)
(3)  (d). (e) 7 (D

Options:

61547529497, 1
61547529498, 2
61547529499 =
615475239500 4

(2) (b, (c) 3 (d)
(4)  (0). (d) #F (e)

FPART II Sindhi

Section Id : 615475102

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 615475337
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154757567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529501, 1
61547529502 2
E1547529502. 2
61547529504, 4

Question Number : 51 Question Id : 6154757567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Biga & e g M En aifE | weE -
(1) 312 @16

(2) H=Icl |18

(3) AT HgHg wiH
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Options:

61547529501, 1
61547529502 2
615475239502 2
61547529504, 4

Question Number : 52 Question Id : 6154757568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



yamly  (b) S5 @

SN el @ a3l (0
Py Mg Ol =

(a) and (c) (2) (a) and (b) (1)

(c) and (d) (4) (b) and (c) (3)

Options:

61547529505, 1
61547529506, 2
615475239507, 2
E1547529508. 4

Question Number : 52 Question Id : 6154757568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

afea #fzer T wiaw oy & aarte:
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Tl ST TS Al

(1) (a) and (b) (2) (a) and (c)
(3) (b) and (c) (4) (c) and (d)
Options:

61547523505, 1
E1547523506. 2
E1547523507. 3
61547523508, 4

Question Number : 53 Question Id : 6154757569 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(b) and (d) (2) (a) and (b) (1)
(a) and (c) (4) (c) and (d) (3)
Options:

61547523509, 1
61547523510, 2
E15475239511. 3
BE1547529512. 4

Question Number : 53 Question Id : 6154757569 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HTE T S S B

(a) =121 OIETATE ST (b) F9 FZATT

(c) ITerg ATeR| (d) 1 Framit

HEl A1 93 FAT

(1) (a) and (b) (2) (b) and (d)

(3) (c) and (d) (4) (a) and (c)
Options:

E1547523509. 1
B15475239510. 2
61547523511, 3
61547523512 4

Question Number : 54 Question Id : 6154757570 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
615475239513 1
E1547523514,. 2
61547529515 =
61547523516 4



Question Number : 54 Question Id : 6154757570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
& i . = - i oma oy ES -
d-alg -a-, Eﬁ- 5 aﬁ S 9e0 HAlg

(1) TE=T A (2) e 9!
(3) EIECREr (4) TATA AT
Options:

615475235131
61547523514, 2
61547523515, 3
E1547523516. 4

Question Number : 55 Question Id : 6154757571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475235171
61547523518, 2
61547523519, 3
E1547523520. 4

Question Number : 55 Question Id : 6154757571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529517, 1
E1547529518. 2
61547529519, 5
61547529520 4



Question Number : 56 Question Id : 6154757572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529521, 1
61547529522 2
61547529522 2
61547529524, 4

Question Number : 56 Question Id : 6154757572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) 30T OTE (4) AT =T
Options:

E1547523521. 1
E1547529522. 2
B15475239523. 3
B1547523524. 4

Question Number : 57 Question Id : 6154757573 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475235251
E1547523526. 2
61547523527, 3
E1547523528. 4



Question Number : 57 Question Id : 6154757573 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) g (2) =E|3
(3)  mmE (4 T
Options:

615475235251
E1547523526. 2
B1547523527. 3
B1547523528. 4

Question Number : 58 Question Id : 6154757574 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

¢ 15629 - 1589 (2) ¢ 1525 - 1590 (1)
Bl N
¢ 1739 - 1829 (4) ¢ 1689 - 1752 (3)
e e

Options:

615475235291
61547523530, 2
E1547523521. 3
B1547529532. 4

Question Number : 58 Question Id : 6154757574 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 1525 - 15905, (2) 1529 - 15897%.
(3) 1689 — 17527%. (4) 1739 - 1B3o%
Options:

615475235291
61547523530, 2
E1547523521. 3
B1547529532. 4

Question Number : 59 Question Id : 6154757575 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE1547523533. 1
E15475239534. 2
51547523535, 3
61547523536, 4

Question Number : 59 Question Id : 6154757575 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) A= (2) T E L
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Options:

61547523533, 1
61547523534, 2
61547523535, 3
E1547523536. 4

Question Number : 60 Question Id : 6154757576 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475235371
61547529538 2
615475295249 =
61547529540, 4

Question Number : 60 Question Id : 6154757576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547523537. 1
B1547523538. 2
61547523539, 3
61547523540, 4

Question Number : 61 Question Id : 6154757577 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

sL B @ b 4s (@)
s (4) s (3)

Options:

61547529541, 1
61547529542 2
61547529542 =2
£1547529544 4

Question Number : 61 Question Id : 6154757577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523541, 1
61547523542 2
E15475239543. 3
E15475239544. 4

Question Number : 62 Question Id : 6154757578 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

61547529545, 1
61547529546 2
E1547529547 2
61547529548, 4

Question Number : 62 Question Id : 6154757578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547523545 1
61547523546, 2
61547523547, 3
E15475235458. 4

Question Number : 63 Question Id : 6154757579 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529549, 1
61547529550 2
61547529551, 2
61547529552, 4

Question Number : 63 Question Id : 6154757579 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523549 1
61547523550, 2
E1547523551. 3
E1547523552. 4

Question Number : 64 Question Id : 6154757580 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523552, 1
E1547523554. 2
B1547523555. 3
61547523556, 4

Question Number : 64 Question Id : 6154757580 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547523553. 1
E1547523554. 2
51547523555, 3
61547523556, 4

Question Number : 65 Question Id : 6154757581 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

B1547523557. 1
61547523558, 2
615475235549, 3
E1547523560. 4

Question Number : 65 Question Id : 6154757581 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523557, 1
61547523558, 2
61547523559, 3
E1547523560. 4

Question Number : 66 Question Id : 6154757582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

vt 25 Wb e HS Anass Al
Jiss St © e BEE
Options:

61547523561, 1
E1547523562. 2
61547523562, 3
B1547523564. 4

Question Number : 66 Question Id : 6154757582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



4 . 2 : o
ST =hITE1E1 'C-‘rrJ.':l_[J cils 5_%’-‘1!‘:’1]@ ":Faﬁj:l A TTIT=] :

(1)  aTHrsTE (2) it faetsy
(3)  Hfeaa #= (4) 7= AT
Options:

61547523561, 1
E1547523562. 2
E1547523563. 3
B1547523564. 4

Question Number : 67 Question Id : 6154757583 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

b
\

5 2 928 S len p)

1921 ;00320  (2) 1911 ,ose320 (1)
1914 ,04320  (4) 1920 ;95320  (3)
Options:

51547523565, 1
61547523566, 2
E1547523567. 3
61547523568, 4

Question Number : 67 Question Id : 6154757583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T YSEmiia S 59y e

(1) 20 995 1911 (2) 20 J95=F 1921
(3) 20 99=1 1920 (4) 20 99=1F 1914
Options:

61547523565, 1
E1547523566. 2
E1547523567. 3
61547523568, 4

Question Number : 68 Question Id : 6154757584 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

£1547529569. 1
E1547529570. 2
61547529571, 5
61547529572 4

Question Number : 68 Question Id : 6154757584 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

REE S99 S 99 T a6

(1)  =rsFm (2) =
(3) = (4) LB
Options:

51547523565, 1
61547523570, 2
61547523571, 3
BE1547523572. 4

Question Number : 69 Question Id : 6154757585 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

> Y4 A= “a i < Y 1 i
ﬁ‘&“';‘ﬂ1ft_‘wb.;%_.ﬁcj1w . S
jex3  (2) Ory (@)
\5‘1).5 T \_5-1;. Sy (@) O9ylesd §A,5 (8

Options:

61547529573, 1
61547529574 2
61547529575 2
E1547529576. 4

Question Number : 69 Question Id : 6154757585 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 399 (2) fEwE
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Options:

615475235731
61547523574, 2
61547523575, 3
E1547523576. 4

Question Number : 70 Question Id : 6154757586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

* . g i ? b el | Y
P e L__,’,'U-'\__i 3 sl L::J;g' A e
‘S (2 - |
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Options:

61547529577, 1
61547529578, 2
61547529579 2
61547529580 4

Question Number : 70 Question Id : 6154757586 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

g o &g A 3 At =9

(1) ES (2) +
(3) F (4) 1
Options:

E1547523577. 1
B1547529578. 2
B1547523575. 3
61547523580, 4

Question Number : 71 Question Id : 6154757587 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



S$AS @ ca (1)
) (4) 9 (3)
i = - 1
Options:

E1547523581. 1
E1547529582. 2
B1547523583. 3
61547523584, 4

Question Number : 71 Question Id : 6154757587 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T S 74 @ -

(1) =« (2) T
(3) T (4)
Options:

E1547523581. 1
E1547529582. 2
B1547523583. 3
61547523584, 4

Question Number : 72 Question Id : 6154757588 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

s \

_ £ a = . k= i ! .y oy
(P BN e T P (18T

o< (2) R (1)
L= @ s @

Options:

61547529585, 1
61547529586 2
E1547529587. 2
61547529588, 4

Question Number : 72 Question Id : 6154757588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =s 2y T
(3) =M (4)  =Hall
Options:

51547523585, 1
61547523586, 2
61547523587, 3
E1547523588. 4

Question Number : 73 Question Id : 6154757589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e
ws -~
ar A

3 « | o
: .¥¢1 Eytﬁy L? _jﬁﬁd ch,ﬂ {szzz

g il B Slide S A Sl (@
JLausS @ 3”1337&@5 (c)

D 53 0 L lea =

(b) and (c) (2) (a) and (b) (1)
(a) and (c) (4) (c) and (d) (3)

Options:
£1547523559. 1

E154752395380. 2
E154752395391. 3
B1547523592. 4

Question Number : 73 Question Id : 6154757589 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ThieSl & T8 ©IdiF ST I A= 7

(c) oA FTEAm (d) e A

(1) (a) and (b) (2) (b) and (c)

(3) (c) and (d) (4) (a) and (c)
Options:

61547523559, 1
E1547523530. 2



E154752395391. 3
61547523582, 4

Question Number : 74 Question Id : 6154757590 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
4 o

" 5 I b - b 1% 5
s e o Sy 2B S L 2S00 el

-

% (2) J&L @
e (4) (S A (3)

Options:

61547529593, 1
615475239594 2
61547529595, 5
61547529596, 4

Question Number : 74 Question Id : 6154757590 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e =1 Srigen vt e FuE °§ A@ige g

(1) Te (2) Y
3 =& (4)
Options:

E15475235583. 1
E15475239594. 2
B1547523555. 3
61547523556, 4

Question Number : 75 Question Id : 6154757591 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1529 U Wedl i gpe

b

1612 {2)

. C
21897  (4) 21853  (3)
e .

Options:
E1547529597. 1

E15475239598. 2
B1547523599. 3
61547523600, 4



Question Number : 75 Question Id : 6154757591 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T el foeft amEaa I T

(1) 1559 (2) 1612 3
(3) 1853 § (4) 1897 5
Options:

615475235397, 1
6154752353958, 2
E1547523599. 3
B1547523600. 4

Question Number : 76 Question Id : 6154757592 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

. » i = ; by . [ ==0 ‘I 5 g 18
| ulk.n.:-» xi® g |,__:'J | S— -...:'“d &l ‘-5_.\' Jm.'-
itbes Nope ) il ks @
Sold o (4) _,;.,;Lw (3)
Options:

61547523601, 1
E15475239602. 2
E1547529603. 3
61547523604, 4

Question Number : 76 Question Id : 6154757592 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

" @uft TETE, T wA e S 99e g

(1) =M = (2)  H9q R
(3) =@ (4)  BHE B
Options:

E1547529601. 1
B1547523602. 2
61547523603, 3
61547523604, 4

Question Number : 77 Question Id : 6154757593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529605, 1
1547529606, 2
E1547529807. 2
61547529608, 4

Question Number : 77 Question Id : 6154757593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[ = ™ A | B
TEACET, 491, IR, I e 3TEMH:

(1) AR 1 TqH (2) =g A3 Fag 9rSl - 2
(3) ek St (4) 1857 3 @Y
Options:

B1547523605. 1
615475236806, 2
61547523607, 3
61547523608, 4

Question Number : 78 Question Id : 6154757594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

—

Ld=  (2) Jes (D)
gxly @ SENENE (3)

Options:

61547529609, 1
61547529610 2
61547529611, =
61547529512 4

Question Number : 78 Question Id : 6154757594 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TS Fekd |1 Odeid 3108

(1) = (2) @R
(3) EIEHEH (4) BIEIE
Options:

61547523609, 1
E1547529610. 2
E1547529611. 3
B154752961%. 4

Question Number : 79 Question Id : 6154757595 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

; =) # Sy : ’
Slol = s e

R :
U= (2) 8 ) g (1)
o @ Ly il @)

Options:

61547529613, 1
61547529614, 2
61547529815 =2
1547529816 4

Question Number : 79 Question Id : 6154757595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  =w= (2) TS
(3) 9% wiaan (4)
Options:

61547523613 1
E1547523614. 2
E15475239615. 3
BE1547529616. 4

Question Number : 80 Question Id : 6154757596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529617, 1
61547529818 2
E1547529819 2
1547529620, 4

Question Number : 80 Question Id : 6154757596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S S, G g fie A

(1) =g =% (2) g e
{3} Imfr (—1} ':FJl':'h EAL
Options:

E1547523617. 1
615475296158, 2
E154752396149. 3
B1547523620. 4

Question Number : 81 Question Id : 6154757597 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o b

a] ::|

Llyel (2 Sl g (D)

93) (@ CIECE
Options:

61547529621, 1
E1547529622. 2
E1547529623. 3
E1547529624. 4

Question Number : 81 Question Id : 6154757597 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TZF-ﬁ aTs Eﬁ 3-_1_1 a -+ Ei-'[TﬁT-E :

(1) I3 Tid (2) ST
(3) == (4) @@
Options:

61547529621, 1
E1547529622. 2
BE1547529623. 3
B1547529624. 4



Question Number : 82 Question Id : 6154757598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-ﬁ‘I&L’—*‘ﬁJI‘J b o Sl

_.k;-—f IS @ LIS RP-TR

Jim1 (Syhms (@) J““*—‘ﬂ V= (3)
Options

61547523625 1
E154752962E. 2
E1547529627. 3
B1547529625. 4

Question Number : 82 Question Id : 6154757598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i A i n 5
/L S JaH ATae Sl AaTew 38 -

(1) T} e (2 FeTl TeRTS
(3) FHET THET (4) =i saEEeh
Options:

61547529625 1
E1547529626. 2
B1547529627. 3
B1547523628. 4

Question Number : 83 Question Id : 6154757599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

_Jujkﬁjll.ﬂufi;{“é fjﬂ a Vr“jj""_,&,

L_,).“;: (2) CUPEN 6

J_'J‘;L.J (4) Oy i (3)
Options:

615475236259, 1
61547523630, 2
E1547523631. 3
E1547523632. 4

Question Number : 83 Question Id : 6154757599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) T (2) ]
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Options:

BE1547529629. 1
B1547523630. 2
61547523631, 3
E1547523963%2. 4

Question Number : 84 Question Id : 6154757600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A 5| Iy (T L___;;Q"ﬁwhg__!u“

s ]

Wus=s (@) Cadphes D

iy (A wiSsgSy (3
Options:

61547523633, 1
615475239634, 2
E1547523635. 3
E1547523636. 4

Question Number : 84 Question Id : 6154757600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FIAETE S Hiesl =1 7 302

(1) q Joed (2) 9\1?;35
(3) T4 ST (4) :-rq;[j
Options:

B1547523633. 1
61547523634, 2
615475239635 3
61547529636, 4

Question Number : 85 Question Id : 6154757601 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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=S Uy @ oS o )

Options:

1547529637, 1
E15475298328. 2
61547529629, 5
61547529640 4

Question Number : 85 Question Id : 6154757601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

USEH 32 A FiAT

(1) < i (2)  wm fE
(3) == g (4)  TOwm e
Options:

61547523637, 1
615475239638, 2
61547529639, 3
E15475239640. 4

Question Number : 86 Question Id : 6154757602 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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' PR 3565 0L Obs (i 2 O

5 L (2) ﬁ.‘{, (1)
S@ JETINNG)

Options:

61547529641, 1
61547529642 2
61547529642 2
E1547529544 4

Question Number : 86 Question Id : 6154757602 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



EgH o =5 A5 AT Fiesl AR 3G 7

(1) =M (2) =M

(3) T 4 #W
Options:

61547529641, 1
E1547529642. 2
E1547529643. 3
B15475239644. 4

Question Number : 87 Question Id : 6154757603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

. i . ) P s T ] ) s
-.f‘ et Sl W T i1 (B TS
Sid (2 P COCR ¢
s @ E_,,.‘;_?j (3)

Options:
61547529645 1

E154752964E. 2
E1547529647. 3
61547529648, 4

Question Number : 87 Question Id : 6154757603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fasfiar <t samT @ @GS | 2= JE

(1) o (2)  @g
{:3} r’"_ ‘w{ ) {4} - [
Options:

61547523645 1
615475239646, 2
E1547523647. 3
61547529645, 4

Question Number : 88 Question Id : 6154757604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

£1547529649. 1
1547529650, 2
61547529651, o
61547529652 4

Question Number : 88 Question Id : 6154757604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

§%_ > | e 5. 4 = [ W e 1 .
Al HIg &l #HAdAS E , Al Hig =hl Tocls 1257 =heT] iz :

'[]-} EI‘."1 r%rm {2} HH r;" E
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Options:

E1547529645. 1
61547523650, 2
61547523651, 3
E154752365%2. 4

Question Number : 89 Question Id : 6154757605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547529653, 1

61547529654 2

1547529855 =2

E154752965E. 4

Question Number : 89 Question Id : 6154757605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) GIRAEE] (2) ST
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Options:

61547523653, 1
61547523654, 2
E1547523655. 3
E154752365E6. 4

Question Number : 90 Question Id : 6154757606 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

\._fjlu—_‘ (2) Gt 4> & J“j (1)
s o2 () LS B

Options:

£1547529657. 1
61547529658, 2
61547529659, 5
61547529660 4

Question Number : 90 Question Id : 6154757606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) foFwzr 51 =g (2) SEIER
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Options:

61547523657, 1
615475239658, 2
61547529659, 3
E1547523660. 4

Question Number : 91 Question Id : 6154757607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547529661. 1
B1547523662. 2
B1547523663. 3
615475239664, 4

Question Number : 91 Question Id : 6154757607 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
: .:ﬁ I'-I': l"k.l_j':[ H; = x o I"-'.l'-' -

(1) = U (2) e U
(3)  weATvIERE U ERETS (4) Tl ¥ i
Options:

BE1547529661. 1
B1547523662. 2
B1547523663. 3
615475239664, 4

Question Number : 92 Question Id : 6154757608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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: i e - ' = s ,;-’_‘ : I g, & L

L@J_ﬂ.z-. (2) \-.-.5;3”31 (1)
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Options:

61547529665 1
61547529666, 2
61547529667, 2
61547529668, 4

Question Number : 92 Question Id : 6154757608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547529665, 1
61547529666, 2
61547529667, 2
1547529668, 4

Question Number : 93 Question Id : 6154757609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154752966%9. 1
B1547523670. 2
B1547523671. 3
E15475239672. 4

Question Number : 93 Question Id : 6154757609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  TEa "R (2) =W TERE 9
(3)  wif=a el g (4)  fost wef= =
Options:

G1547523669. 1
E1547523670. 2
E1547529671. 3
B1547529672. 4

Question Number : 94 Question Id : 6154757610 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

£1547529673. 1
61547529674, 2
61547529675 o
61547529676, 4

Question Number : 94 Question Id : 6154757610 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Y T ¥IEnE e FAeEes S gHel 1

(1) 1754 3. (2) 1939 3.
(3) 1942 . (4) 1947 3.
Options:

B1547529673. 1
B15475236874. 2
G1547523675. 3
E1547523676. 4

Question Number : 95 Question Id : 6154757611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547523677. 1
B1547523678. 2
E15475296749. 3
61547523680, 4

Question Number : 95 Question Id : 6154757611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) e (2) R
(3)  IFETsell AlE (4) T Ee
Options:

61547529677, 1
E154752967E. 2
BE1547529673. 3
B1547523680. 4

Question Number : 96 Question Id : 6154757612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

E

e O . B B g § s

Lpeds (2) d=2 (D)

Options:

61547529681, 1
1547529882 2
61547529682, 5
61547529684, 4

Question Number : 96 Question Id : 6154757612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
qatHs Te FITEE = =72 O ﬁi‘g I 32 TSR B

™

(1) GG (2) IEESE|
(3) Sies] (4) T1e I
Options:

E1547523681. 1
BE1547529682. 2
B1547523683. 3
B1547523684. 4

Question Number : 97 Question Id : 6154757613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



RE:
A Yo (2) ) S (1)
py3 k(@ p3 Slw @)

Options:

61547529685, 1
61547529686, 2
61547529687, o
61547529688, 4

Question Number : 97 Question Id : 6154757613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SN S Y Fde F0 T A 30 e 96 A

(3) = ud (4) Fggd
Options:

E15475239685. 1
B1547523686. 2
B15475236887. 3
615475239688, 4

Question Number : 98 Question Id : 6154757614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y . | I \ e ey 3, 5 N I,r-..
H FHMJLf—-‘- 2 sl ._:Jw\_i1__s-u ‘?Jj“ _S_hll.:.f_).i
L &) Ao 5.51 ot F I
L;;A S 2 (4) Oy (3)

Options:

61547529689, 1
61547529690 2
61547529691, 2
615475295392 4

Question Number : 98 Question Id : 6154757614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TSaET 20 | T2 310 I8 o S92 FE

(1) 31, U=, #. grd (2) EIERCT|
(3) e (4) =2 729
Options:

B1547523689. 1
615475236830, 2
615475239631, 3
61547529632, 4

Question Number : 99 Question Id : 6154757615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

: " . ¢ 1
. B S _Jv"‘_—f'n.-.a.-J: -“_ﬁ-»éll...u jl 13.._...».&;,.‘:

vt P 4
¢ 1866 (2 ¢ 1843 (1)
e L.
¢ 1900 (4) ¢ 1897 (3)
— |-
Options:

61547523653, 1
615475296394, 2
E1547523635. 3
E154752363E6. 4

Question Number : 99 Question Id : 6154757615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2T JH1 WNE W1 TEEl 89tad o

(1) 1843 3. (2) 1866 3.
(3) 1897 3. (4) 1900 3.
Options:

61547523653, 1
61547529634, 2
61547529635, 3
E15475239636. 4

Question Number : 100 Question Id : 6154757616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



LLJ (2 5 ;’*J (1)
L (4) Locacs (3)
L

Options:

61547529697, 1
E1547529898. 2
61547529699, 5
61547529700, 4

Question Number : 100 Question Id : 6154757616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g § 3FaE & A8 B FE | g faE e i

(1) D (2) Foriel
(3) Lz (4) e
Options:

E1547523637. 1
E15475239638. 2
E15475296395. 3
B1547523700. 4

Question Number : 101 Question Id : 6154757617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

w2 h e ST > S s A
2712 (@) £500 (1)
— e
c 1090  (4) £ 1000  (3)
L |

Options:

61547529701, 1
61547529702 2
61547529703 2
61547529704 4

Question Number : 101 Question Id : 6154757617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



{F{q ﬁ- A1 ?-I ﬁ F-'."-‘t‘J'Il'I Eh- -, {q?_h’ ;

(1) 5003 (2) 712 %
(3) 1000 3 (4) 1000 %
Options:

615475237011
E1547523702. 2
E1547529703. 3
B1547529704. 4

Question Number : 102 Question Id : 6154757618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

b Bh Al s g

(S _;-*-1 (2) Ghe (S garns ;ﬁ;;_: (1)
¢ 1500 (4) ¢ 687 (3)
~— o
Options:

615475237051
E1547523706. 2
E1547529707. 3
E15475239708. 4

Question Number : 102 Question Id : 6154757618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TaH} 72 e Sy =i -
(1) =& 5. & (2 s wd

r

(3) 687 3. (4) 1500 5.

Options:

61547529705, 1
61547529706, 2
E1547529707. 2
61547529708, 4

Question Number : 103 Question Id : 6154757619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



'x...ifMI’ﬁ'L"" Gl ) S o) \:ﬁiﬁi‘j-'um
- ¥ . 5 :F-I\ ~
e @ L bl @

Options:

61547529709, 1
61547529710 2
61547529711, 2
61547529712 4

Question Number : 103 Question Id : 6154757619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) = Terfe (2)  zE
(3) I T (4) Eers
Options:

B1547523709. 1
61547523710 2
615475239711, 3
61547529712, 4

Question Number : 104 Question Id : 6154757620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= £

PP f;*u...ﬁ.,& Sylhe 2 Sl o G )10 g 1ond
91;.?;!3.‘2 LruL."‘ 91)..«_3- (2) “'—'{:-"-" E’r’“‘"‘j 1}.)’“’ (1)
JL“:U;;;:L (4) o=zl O

Options:

61547529713, 1
61547529714 2
E1547529715. 2
61547529716, 4

Question Number : 104 Question Id : 6154757620 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1853 = et s i < T Fhe S S -

(1) o=t wef= =m (2)  FTmEE A
(3) . u= ofem (4) s e
Options:

BE1547529713. 1
61547529714 2
615475239715 3
E1547523716. 4

Question Number : 105 Question Id : 6154757621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Qsomzs  (2) Jeb (@
a5 @) JsslgsS  (3)

Options:

61547529717, 1
61547529718 2
61547529719 2
61547529720 4

Question Number : 105 Question 1d : 6154757621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

[a) ™ =
L AT TR AR

(1) == (2)  TuEd
(3) = (4)  wEw
Options:

6154752397171
61547529718, 2
E15475297149. 3
B1547529720. 4

Question Number : 106 Question Id : 6154757622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Lﬁj‘k_?i)ﬁk,at_..w&qﬁ (b) bl s ol (@)
St 2w (@ Cany Cady | 25205 (@)
AT R C T P e
o . S
(b) and (c) (2) (a) and (b) (1)
(¢) and (d) (4) (a) and (d) (3)

Options:

61547529721, 1
61547529722 2
61547529723 2
61547529724 4

Question Number : 106 Question Id : 6154757622 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Si34t o7 =T 9 T 3AET

(a) g 37%5e o (h) 3T TETH e
(c) =1 37h= = (d)  T=d =R

TE AT T HEA

(1) (a) and (b) (2) (b) and (c)
(3) (a) and (d) (4) (c) and (d)
Options:

615475297211
G1547529722 2
E15475239723. 3
E1547529724. 4

Question Number : 107 Question Id : 6154757623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



"—"“'"‘j (b) d_.._.“ﬁ:_z-, u...@}j..." (a)
Osyblye @ Oleys (@
oD Mas les = oro
s B
(b) and (c) (2) (a) and (b) (1)
(a) and (c) (4) (a) and (d) (3)
Options:

615475237251
E1547529726. 2
E1547529727. 3
E1547529725. 4

Question Number : 107 Question Id : 6154757623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol i - . r & -
E5ATE 0T FIEST I THharE FRAT™ET S8 -

(a) R = ' (b)  Sm

()  T=@ (d) =& g

(1) (a) and (b) (2) (b) and (c)

(3) (a) and (d) (4) (a) and (c)
Options:

BE1547529725. 1
B1547529726. 2
B1547529727. 3
B1547523728. 4

Question Number : 108 Question 1d : 6154757624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



- |
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e
& 1947 (4)
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Options:

615475297291
E1547523730. 2
E1547529721. 3
B1547529732. 4

o P ,-.J;J:-_G.L_'EaLw P-\j’\-é- L._JM
£1689 (1)
—
¢ 1851 (3)
i

Question Number : 108 Question Id : 6154757624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T T T8 FoalsH galas 9 ¥5E 9™

(1) 16890 3.
(3) 1851 .
Options:

BE1547529729.1
B1547529730. 2
B1547529731. 3
B1547523973%. 4

Question Number : 109 Question 1d : 6154757625 Question Type:

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

—
[ -as—

S, %,
[ —— . =

.
_—
L = —~ .

Options:

615475297331
61547529724 2
61547529735 5
61547529736, 4

Question Number : 109 Question Id ;: 6154757625 Question Type: MCQ Option Shuffling :

; \
"L

S - r.:-t;.bﬁ_?_-

ey
3 ey

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(2)
(4)

(2)

(4)

1768

104

2

|
e s T = Loweu Bodosh
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41

MCQ Option Shuffling: No Display Question Number : Yes

A
.‘21_3;‘_,‘..,':; (1)
7% 0 (3)

No Display Question Number : Yes



T S Y= RS feg FE S WHH-HEE € FE e w1 e T e e

(1)  ameffang (2) =i =3
(3) == (4) sl
Options:

61547529732 1
E1547529734. 2
B1547529735. 3
B1547523736. 4

Question Number : 110 Question Id : 6154757626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

», i) -\? -~ B ; . Co, o~ S
uhh‘J‘*lL\.__,E-' .-_-1;'-‘5.”.’\.:-..;.:_'1 ',.?"'L_' 'L:"_,F—'" ::if;h_:..-‘iu“..-
s " | & ;
‘;___E‘!U- (4) s u"_#_.-“_f‘:::rj_j_- (3)
bptions:

615475237371
61547529738, 2
61547529739, 3
E15475239740. 4

Question Number : 110 Question Id : 6154757626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

—

fadfisr O =1, ==e, e, Sl sorsHl wFs A

(1) T (2) paree
(3) Tt (4) HEES
Options:

B1547529737. 1
B1547529738. 2
61547523735, 3
E1547529740. 4

Question Number : 111 Question Id : 6154757627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



LR - Sl O
e @ ULt
Options:

E1547529741. 1
B1547529742 2
B1547529743. 3
61547529744, 4

Question Number : 111 Question Id : 6154757627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

P

A3 = 3= =AraEl 3l -

(1) At (2 T
(3) FIH (4) ST
Options:

B1547529741. 1
B1547529742 2
615475239743 3
61547529744, 4

Question Number : 112 Question Id : 6154757628 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

. - 1y Ry o
o e

gl @ el SR ¢

S (@) e O
Options:
61547529745 1
61547529746 2
61547529747 3
61547529745 4

Question Number : 112 Question Id : 6154757628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



qretl Sl Sieers 9

(1) BIET] (2) AT
(3) aT (4) e
Options:

615475237451
61547529746, 2
61547529747, 3
E15475297458. 4

Question Number : 113 Question Id : 6154757629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

P S 3 e el
ol @ PES TR )
Lo Sy, @ Lewol 53 (3)

Options:

61547529749, 1
61547529750 2
61547529751, 2
61547529752 4

Question Number : 113 Question 1d : 6154757629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
[ [ S o

TR A g e A

(1) ¥ (2) =%
(3) IECRE Bl (4) ETEH
Options:
61547529749,
£1547523750.

61547523751,
BE1547529752.

o LIPS

Question Number : 114 Question Id : 6154757630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g i) g 5Ty el

J1*_¢ > (2) J||'._s-t olocs (1)
- k2 ¥ P

S = (4) glom dog (3)

Options:

61547529753, 1
61547529754 2
E1547529755 2
61547529756, 4

Question Number : 114 Question Id : 6154757630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

& - N | i = ™
SITE 11 THIE H % ATEH:

(1) TSTE FAR (2) EEREI
(3) HFrEm (4) fex wg
Options:

615475239752, 1
E1547529754. 2
B1547529755. 3
B1547523756. 4

Question Number : 115 Question 1d : 6154757631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

) o€ <

:j1__,_u;iijrc;'_j1j_k__sjiu b

ol © SR
...,«"'“"'t 5] (4) u,_..‘: i._-'}'t_‘h—‘ (3)

Options:

61547529757, 1
61547529758, 2
£1547529759. 2
E15475297E60. 4

Question Number : 115 Question Id : 6154757631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tom’ s afen e 9oEm o1E

(1) =M (2) IERLG
(3)  swIwd fzamy (4)  sifigzom
Options:

B1547523757. 1
61547523758, 2
61547529759, 3
61547523760, 4

Question Number : 116 Question Id : 6154757632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

: J_-E -\*Ld 1,5,5_}'
SEC S s bl @
— P (11) h s sogntn (b)

-;"_-AM i J'"'Fd - . '._..-"tﬁ_ll

&

S ) s Ol ©
Fod ) e sy @
(d)-(11) <(c)-(1) «(b)-(1v) <(a)-(11) (2) (d)-(iv) «(c)-(ii1) «(b)-(ii) «(a)-(1) (1)
(d)-(111) «(c)-(1) «(b)-(11) <(a)-(iv) (4) (d)-(1) <(c)-(1v) «(b)-(11) «(a)-(111) (3)

Options:

61547529761, 1
61547529762 2
61547529763 2
61547529764 4

Question Number : 116 Question Id : 6154757632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a)  Toemiet w0 Ag i o7

(b)  HWEH S Ag (i)  wwEE

() VTR S HY (i) Hz=

(d) I & o (v) e

(1) (a)-@). (b)-(ib). (¢)-(iii), (d)-(iv) (2)  (a)-(id). (b)-Av). (¢)-(). (d)-(iii)

(3) (a)-(111), (b)-(11), (c)-(1v), (d)-(1) (4) (a)-(1v), (b)-(11), (c)-(1), (d)-(111)



Options:

61547529761, 1
61547529762 2
E15475297E2. 2
61547529764, 4

Question Number : 117 Question Id : 6154757633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g e

Jr_:”_‘: (1) ....’:"ﬂ Tl (a)

SY 0 @) ";_;;:_,* ()

L did) . H,p_,‘* 3 40 (c)

U (v LRCT N C

(d)-(1v) «(c)-(11) «(b)-(1) <(a)-(111) (2) (d)-(111) «(c)-(1v) «(b)-(1) «(a)-(i1) (1)
(d)-(1) «(c)-(11) «(b)-(111) «(a)-(1v) (4) (d)-(1v) «(c)-(ii1) «(b)-(i1) «(a)-(1) (3)

Options:

61547529765, 1
61547529766, 2
61547529767, 2
61547529768 4

Question Number : 117 Question Id : 6154757633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a) EGRE] (i) =T

by T=d (i) =

(c) oe @ (iii) =

(d) S (iv) AT

(1) (a)-(11), (b)-(1), (c)-(1v), (d)-(112) (2) (a)-(111), (b)-(1), (c)-(11), (d)-(1v)

(3) (a)-(1), (b)-(11), (c)-(111), (d)-(1v) (4) (a)-(1v), (b)-(111), (c)-(12), (d)-(2)
Options:

BE15475239765. 1
B15475239766. 2
B1547529767. 3
61547529768, 4



Question Number : 118 Question Id : 6154757634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

520 e

“*!fo.f*““” (1) Jimﬂhb (a)

j;— R (ii) |_Lq1f.¢ Lﬁ_,_”_ﬁ (b)

g2 S e i) SERYS ©
Onlesii, = (v Jimi [0 CORTR

(d)-(1) «(c)-(11) «(b)-(1i1) <(a)-(1v) (2) (d)-(1v) <(c)-(1i1) «(b)-(i1) «(a)-(1) (1)
(d)-(111) «(c)-(1) «(b)-(11) «(a)-(1v) (4) (d)-(1v) «(c)-(1) «(b)-(111) «(a)-(11) (3)

Options:

61547529769, 1
E1547529770. 2
61547529771, 5
61547529772 4

Question Number : 118 Question Id : 6154757634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(a)  amIHEREEml @) witsret f2fer

(b) T2 EREE (ii) A

(c) Hedl TRl (iil)  HeAs Teerisy =

(d) g sawEEm (iv) fFEzdmm

(1) (a)-(1), (b)-(11), (¢)-(111), (d)-(1v) (2) (a)-(1v), (b)-(111), (c)-(11). (d)-(1)

(3) (a)-(11), (b)-(111), (c)-(1), (d)-(1v) (4) (a)-(1v), (b)-(11), (c)-(1), (d)-(111)
Options:

6154752376591
G1547529770. 2
E1547523771. 3
E1547529772. 4

Question Number : 119 Question Id : 6154757635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T PR OTI 2R e @

O,85 e (@) S ekl S ()

e e TN i) D5 0m  ©

A o g S8 J..,_ﬁ_‘a (iv) B Sl e @
(d)-(111) «(c)-(11) «(b)-(1) «(a)-(1v) (2) (d)-(1) «(c)-(111) «(b)-(11) «(a)-(1v) (1)
(d)-(1i1) «(c)-(1v) «(b)-(1) <(a)-(i1) (4) (d)-(1v) «(c)-(i1) «(b)-(iil) <(a)-(1) (3)

Options:

£1547529773. 1
E1547529774 2
61547529775, 5
61547529776, 4

Question Number : 119 Question Id ;: 6154757635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

" = - =
EE A ?{ gecila Sl HadEl ¢

(a)  EOIE HE AT (i) AT o1 T3

(b) =78 2@ @M (i)  FEwm

(c)  IFHET (iii)  @en fTEeh

(d) HFEE A (iv) =oiHegEdEd

(1) (a)-(1v), (b)-(11). (c)-(111), (d)-(1) (2) (a)-(1v), (b)-(1), (c)-(11), (d)-(111)

(3) (a)-(1), (b)-(111), (c)-(11), (d)-(1v) (4) (a)-(i1), (b)-(1), (c)-(iv). (d)-(ii1)
Options:

615475237731
G1547529774. 2
E1547523775. 3
BE1547529776. 4

Question Number : 120 Question Id : 6154757636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



s s is B eala 758 B il
e A . A B | [

Pl s By ©

Sl @ Al O

SUsl Jafegn (i Sisdgde ©
Ll s 1 G Tﬂj—ﬁfﬁ#&ﬂm (d)

(d)-(1) <(c)-(11) <(b)-(ii1) «(a)-(iv) (2) (d)-(v) <(c)-(1) <(b)-(1) <(a)-(111) (1)
(d)-(111) «(c)-(1v) «(b)-(i1) «(a)-(1) (4) (d)-(1) «(c)-(111) «(b)-(1v) «(a)-(11) (3)

Options:

61547529777, 1
61547529778 2
E1547529779. 2
61547529780, 4

Question Number : 120 Question Id : 6154757636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[EGIEIEREGTeCat fe Rl AR e e B

(@) TS () =ffemeh

(b) WA fFEF T (i) AT AT

(c) Ta ST e (iil)  SHeTe AT

(d) oo s TEdmE (iv) =7 s

(1) (a)-(111), (b)-(1). (c)-(11), (d)-(1v) (2) (a)-(1v), (b)-(111). (c)-(11), (d)-(1)

(3) (a)-(11), (b)-(av). (c)-(111), (d)-(1) (4) (a)-(1), (b)-(11), (c)-(1v), (d)-(111)
Options:

E15475239777. 1
61547529778, 2
E1547529773. 3
B1547529780. 4

Question Number : 121 Question Id : 6154757637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

(d)-(11) «(c)-(1v) «(b)-(111) «(a)-(1)
(d)-(1) «(c)-(ii) «(b)-(iii) <(a)-(iv)

BE1547529781. 1
B1547529782. 2
B1547523783. 3
E1547523754. 4

(d)-(111) <(c)-(1v) «(b)-(1) <(a)-(11) (1)
(d)-(1v) «(c)-(111) «(b)-(11) «(a)-(1) (3)

Question Number : 121 Question Id : 6154757637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el © o < ST o

(a)
(b)
(c)
(d)

(1)
(3)

Options:

F7d
EIE R S CUGER: K]

== 1 ITa1

(a)-(11), (b)-(1), (c)-(1v). (d)-(111)
(a)-(1), (b)-(11), (c)-(ii1), (d)-(iv)

615475239751, 1
61547529782 2
E1547529783. 3
E1547529784. 4

(1)
(11)
(111)
(1v)
(2)
(4)

(a)-(1). (b)-(111), (e)-(1v), (d)-(11)
(a)-(1v), (b)-(113), (c)-(11), (d)-(1)

Question Number : 122 Question Id : 6154757638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



¢ Mas e eafal & i
S SV R A T

ol O @ Gl s d (@)

LS e ) e S| £ *.TJ:T (b)

LanS @) mlS e wlh e ©

dﬂub \._.1}_,.,_.-- (1v) LLF}L"‘ _ﬁ_” )

@Hidam dendatn @ (@) (0-0) b @1 (D
(d)-(1v) (c)-(111) «(b)-(11) .(a)-(1) (4) (d)-(2) «(c)-(1v) «(b)-(111) .(a)-(11) (3)

Options:

£1547529785. 1
61547529756, 2
61547529787, o
61547529788, 4

Question Number : 122 Question Id ;: 6154757638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

IMHFARE T SHgsh o1 I8l Hern

(a) @ ; 9% U 37 (1) ATeTed Sq=m

(b) HEEU FEE (i) T T

(©  F9 IumAm 59 fowgm (i) it A

{d] MTcH <] _*;[ "||'(:1 ﬁ- {11;_?} ?_E"JT{ m

(1) (a)-(111), (b)-(1v). (c)-(1). (d)-(11) (2) (a)-(1v), (b)-(ii1), (e)-(11), (d)-(1)

(3) (a)-(11). (b)-(ii1). (c)-(1v). (d)-(1) (4) (a)-(1). (b)-(ii), (c)-(iii), (d)-(iv)
Options:

61547523785, 1
61547529786, 2
E1547523787. 3
E1547529788. 4

Question Number : 123 Question Id : 6154757639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



JPTR R TN

pracie 4 Sy (@

ol eSS ()

Ja Lo (i) N ©

— T (iv) Jre= (d)

(d)-(111) .(c)-(1) «(b)-(1v) (a)-(11) (2) (d)-(1v) .(c)-(111) «(b)-(11) .(a)-(1) (1)
(d)-(11) «(c)-(1v) «(b)-(111) (a)-(1) (4) (d)-(1) «(c)-(1v) «(b)-(11) «(a)-(ii1) (3)

Options:

61547529759 1
61547529790, 2
61547529791, 5
61547529732 4

Question Number : 123 Question Id : 6154757639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(a) T i) =

(b) I (i) @

(c) e (iii) @S

(d) 3 (iv) =9

(1) (a)-(1). (b)-(ii). (c)-(ii1), (d)-(iv) (2) (a)-(11), (b)-(iv), (c)-(1), (d)-(1i1)

(3) (a)-(111), (b)-(11), (c)-(1v), (d)-(1) (4) (a)-(1). (b)-(111), (c)-(1v). (d)-(11)
Options::

615475239759, 1
61547529730, 2
E15475239731. 3
B1547529732. 4

Question Number : 124 Question Id : 6154757640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



—

» a3 Yo 1as s > 6 =)
= - cierall I - D, -

Lh 0 Ll g2 @

S 28 L @) Shans o

O9les i, = (i) JL“-’“"" aly (c)

sk, (%) S Sepad] Syhne (@

(@)-(id) e)-(i) (b)-(v) (@)-()  (2) (d)-(ii) .()- (i) «(b)-() (a)-Gv) (1)
(@)-(1) (©)-(ii) «(b)-(v) (@)-(Gii)  (4) (d)-(iv) o)-(G) «(b)-Gi) (a)-G)  (3)

Options:

61547529793, 1
61547529794 2
61547529735 2
615475297396 4

Question Number : 124 Question 1d : 6154757640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

I U T = A= werE

(a) 1 Temroi (1) d

(b) ez e (11) I fiaTE 7 99

(c) T TSET (i) TEs daw

(1) (a)-(1v), (b)-(1), (c)-(11), (d)-(111) (2) (a)-(1), (b)-(1v). (c)-(111), (d)-(11)

(3) (a)-(1). (b)-(11), (c)-(111). (d)-(1v) (4) (a)-(111), (b)-(1v), (c)-(11), (d)-(1)
Options:

6154752397321
61547529734, 2
E15475239735. 3
B1547529736. 4

Question Number : 125 Question Id : 6154757641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Jl= s 0

] E3) COL SOP )
93 S Osyg (D)
S5

(d)-(1v) (e)-(1i1) «(b)-(ii) «(a)-(1) (2)

(d)-(1) «(c)-(111) «(b)-(1v) «(a)-(11) (4)
Options:
B15475297397.
61547529795,
651547529799,
E1547529500.

o P

A g (a)
sLz)a (b)
Ols 3 #  ©
bk @

(d)-(111) :(c)-(11) «(b)-(1) (a)-(1v) {1)
(d)-(11) «(c)-(1) «(b)-(111) (a)-(1v) (3)

Question Number : 125 Question Id : 6154757641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

FEMEM U TFERM = ool HiEl -
(a) TR T

(b)  fecems

(c) wieE @H

(d) i am

(1) (a)-(1v), (b)-(1). (e)-(11), (d)-(111)
(3) (a)-(1v), (b)-(111), (c)-(1), (d)-(11)

Options:

61547529797, 1
615475297398 2
E1547529799. 2
61547529800 4

(1) EEE LI
(11) TehHT @
(iii)  wR=ERET S "=

(iv) TR T

(2) (a)-(1). (b)-(i1). (c)-(111), (d)-(iv)
(4) (a)-(11), (b)-(iv), (c)-(111), (d)-(1)

Question Number : 126 Question Id : 6154757642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



-

;;?Q” el I L¢1J;-L~u ij Ol L:vkﬁ&he L?“L‘b\jr* s gJJJ  £A) | W ::“

-

839 g 4t u_JL2:~ Lﬁ-ﬂL&J,! *Haﬁd ﬁy;," ;::1” ‘(R) L,H?J

Lid R) ~oxs () (2) =20 (R) —oeo (A) (1)
(- L A
Lié R) Lid A (4) i (R) Lok (A) (3)

Options:

61547529801, 1
61547529802, 2
E1547529802. 2
61547529804, 4

Question Number : 126 Question Id : 6154757642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

W?}I‘fffu {A} “EHHTH@:'%E%:@T%JEEJ:H Ja'ﬁ-?r %ﬁ*ql

zeit (R): 399 QiE se-3o -390 = fagare 247 =33

(1) (A) =&l (R) 9@ (2) (A) @& (R) Trerd
(3) (A) Tera (R) @& (4) (A) 7Ted (R) TTeTd
Options:

E1547523801. 1
61547523802, 2
61547523803, 3
61547523804, 4

Question Number : 127 Question Id : 6154757643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ls_L.J JL;J#GL{’_&L_JL.L@ AIMU‘MFLM L‘%}J.AJL.JEJ.H
e R) =~ (A) (2 LIER) = (A) (1)

— | S L
= ®) Lt @ Lle® i@ 3

Options:

51547529805, 1
61547529806, 2
61547529807, 2
61547529808, 4



Question Number : 127 Question Id : 6154757643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9% o1 =9E (A). TEY A U W5 § SEaEn o %l SHTTE s ST |

gelte (R): AR TAH 9100 HE S IIHI |

(1) (A =& R) 7o (2) (A= R) =&
(3) (A) Tea (R) /e (4) (A) g (R) g&t
Options:

E1547523805. 1
B1547523806. 2
61547523807, 3
61547523808, 4

Question Number : 128 Question 1d : 6154757644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Lo Cud 8 2dgy Can G | Q36 50 s ilE}TB:{A} e Qs S
-b,ﬂ Lwﬁjxlxﬂlgih;ﬁ?;?lﬁ e e 52 LJLSN£}1:(R} "1$
j —
wooes(B) BIE@RA) @) x oo (B) 2oes(A) (1)
= = =
L@ L@ @ Lid ®) (?;@(A} (3)

Options:

61547529809, 1
61547529810 2
61547529811, =
61547529812 4

Question Number : 128 Question 1d : 6154757644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

TF T FAE (A): 1076 3. TTE FIS1 FIEA 1 G A7 T 213 737 |

zeitel (R): 391 912 B2 2112 =9 31T 00 =497

(1) (A) =21 (R) == (2) (A) &4 (R) =81
(3) (A) =@l (R) Trerd (4) (A) e (R) Te1a
Options:

615475235809, 1
61547529810, 2
E15475239811. 3
BE1547529812. 4



Question Number : 129 Question Id : 6154757645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

— - L

P2 Lh 2ok Al b e SL) 2 O s 0 A) S 0=y

Lol Llsm e doe Ll lad 65 2l ®) S0

LIE®) ~xw@) (@) e ®) Lic@a @
Le® L@ @ e ®) m2e @) ()

Options:

61547529813, 1
61547529814, 2
61547529815 2
61547529816 4

Question Number : 129 Question Id : 6154757645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TF T T (A): FEREH U AE § wuH § ol g FweEn S g

Zefter (R): 2191 ¢ 901 S99 Aelal S 198 H51 g4

(1) (A) T (R) =&t (2) (A) =&t (R) Teaa
(3) (A) @@l (R) =81 (4) (A) Tt (R) TTeTd
Options:

BE1547523813. 1
615475239814, 2
61547523815 3
E1547523816. 4

Question Number : 130 Question Id : 6154757646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

—

:d.cﬂ s i I T L.Ju E;:J@:(A} e Ol £

i

p = o 5 T o e . ik
(2 B 2 S 2 (e 2 2 )l e SR 0

Ll (R) z—?.hﬁ-_...».: (A) (2) C_M (R) Llé ) (1)
=eo (R) moeo (A)  (4) Lie® Le@ @3
— L

Options:
61547529817, 1
61547529818, 2

615475239819, 3



E1547523820. 4

Question Number : 130 Question Id : 6154757646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o= H T4 (A): T 9 T T S AR

Zeftet (R); 9 it @iE 5@ {1 o Fier= 5 99 S \5eg gis |

(1) (A) Td (R) 92t (2) (A) 771 (R) 7Teta
(3) (A) 7o (R) Terd (4) (A) == (R) =@l
Options:

615475235817, 1
615475298158, 2
E15475238149. 3
E1547529820. 4

Question Number : 131 Question Id : 6154757647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TS 2 Nl e b el s ) e T O L e 2 UL
2l (2) J%& (1)
el @ )

Options:

61547529821, 1
E1547529822. 2
E1547529822. 2
61547520824, 4

Question Number : 131 Question Id : 6154757647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T S OHar, IR 9@ E=E T aEE, 97 S = 9w T = e S s o

. =

(1)  Femf (2) =
(3) ATAl (4) ST

Options:

61547529821, 1
E1547529822. 2
61547529822, 5
61547529824, 4



Question Number : 132 Question Id : 6154757648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

8 ) e din 2 Sl Gl bl

;_1__‘,';‘-:#»;_3}.-" (2) __5-.‘3__:-:-:'-11 (1)

posray (4) Sy s (3)
Options:

E1547523825. 1
B1547523826. 2
B1547523827. 3
61547529828, 4

Question Number : 132 Question 1d : 6154757648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HETYEA 91 FEE A 5y S T g

(1) e (2 ZATe
(3) gy (4) s
Options:

BE1547523825. 1
B1547523826. 2
G1547529827. 3
E1547523828. 4

Question Number : 133 Question Id : 6154757649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(B9 P T p0S n

‘=" @ W
Options:

615475238259 1
61547523820, 2
615475239821, 3
61547529832 4

Question Number : 133 Question Id : 6154757649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



mmﬁﬂ{ﬁwﬂ?

(1) F (2) F
(3) ' (4) T
Options:

615475239829 1
61547523830, 2
E15475239821. 3
BE1547529832. 4

Question Number : 134 Question Id : 6154757650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

:f‘ MU'}.L.;

Ve s i (@) K S i (D)

JJJQ;-‘ .f:}.; (4) S U,.,& oS (3)
Options:

61547523833, 1
E1547529834. 2
E1547523835. 3
B1547523836. 4

Question Number : 134 Question Id : 6154757650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

E J.'J.:qu- 'Fjﬂ;fr &

(1)  ©fish fafsd fag @)  fary < dar

(3)  TIvg FA F (4) T T @
Options:

61547523832, 1
61547529834, 2
E1547523835. 3
E1547523836. 4

Question Number : 135 Question Id : 6154757651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Bl et :
< @ Js @
= (4) — (3)

Options:

61547529837, 1
61547529838, 2
61547529839 2
61547529840 4

Question Number : 135 Question Id : 6154757651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o~

oy < F4m T S § g e

(1) 10 (2) z
(3) El (4) ek
Options:

BE1547523827. 1
61547523838, 2
615475239839, 3
61547523840, 4

Question Number : 136 Question Id : 6154757652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
— L

J":JJL.J_S_.'EA s njll.:f A s_JL:rr_A; +._,“|

D ) Sy, @
F= @ s3id ®

Options:

615475295841, 1
61547529842, 2
£1547529842 =2
E1547529844 4

Question Number : 136 Question Id : 6154757652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BRI i A i - ) B |

(1) o (2) ATHI
(3) GIEL (4) Fed|
Options:

61547523841, 1
E1547529842. 2
E1547529843. 3
B1547529844. 4

Question Number : 137 Question Id : 6154757653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-

2T X

) Lo o ) 0 g

50 B o SIS pa g 2l (G50
Sle=nely @ Cuasps Joew 1)
SET I RS NG

Options:

51547529845, 1
61547529846, 2
61547529847, o
61547529848 4

Question Number : 137 Question Id : 6154757653 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

. - - ) e B e
Fles L =1 5=g @rghm # 7 o

(1) o] T (2 T ==
(3) @ faerin (4) 99 TE
Options:

E1547523845. 1
61547529846, 2
E1547529847. 3
B1547523848. 4

Question Number : 138 Question Id ;: 6154757654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



gl @) Lt
«._JJE—-ME:_a (4) QJ&[F_@ (3)

Options:

51547529849, 1
61547529850 2
61547529851, 2
61547529852 4

Question Number : 138 Question Id : 6154757654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

™

(1) ot (2) AT
(3) T (4) 9 w=Fa
Options:

61547523849 1
E1547523850. 2
E1547523851. 3
B1547523852. 4

Question Number : 139 Question Id : 6154757655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘.,

Usx o ey pe Gl e o
Lh @ yLal i
‘D9l @ | OO

Options:

61547529853, 1
61547529854, 2
61547529855 =2
E1547529856. 4

Question Number : 139 Question Id : 6154757655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) TN (2) ofi
(3) T (4) el
Options:

E1547523853. 1
E1547523854. 2
51547523855, 3
61547523856, 4

Question Number : 140 Question 1d : 6154757656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

2 sl ol s =l
Jors f:‘j_f (2) l..‘;j &;ﬂ.ﬁ _J:_E (1)
LpsSed @ PSS @)

Options:

61547529857, 1
61547529858, 2
61547529859 2
61547529860 4

Question Number : 140 Question Id : 6154757656 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) T Al (2) & &
(3) A (4) TR 2
Options:

61547523857, 1
615475239858, 2
E1547523859. 3
E1547523860. 4

Sub-Section Number: 2
Sub-Section Id: 615475338
Question Shuffling Allowed : Yes

Question Id : 6154757657 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)



Cuesticon Label | Comprehension

feer Vi se 2 gl Sl 1 . |
LsJ...:L-;L__.vaj_hi:d&_nf,dd_s_.\ﬁ_aﬂ%-.f‘JLLHMJJ_JL\_J%W ‘?a‘-.-.':":-'}
.__JM

Sub questions

Question Number : 141 Question Id : 6154757658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-

‘_"__H_F e _q_‘. o i o
:;5¢1 Ll:z?rﬂ,ﬁ.::;jJ-F ;Fifhj LjL4 ;;ﬁli::.t:;jj ;f;ﬁ;h5?~cL~u

O589 (Fmms () s b @
s @ e o (3

Options:

615475293861, 1
E1547529862. 2
61547529862, 5
61547529864, 4

Question Number : 142 Question Id : 6154757659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i

A2 i B = 1. f -
:d.sh___{,‘l_f-ﬁ_'.«:_:ﬁ:;_jb Ll ﬁ_;gbj

Sodele (2 e LTI |
."I N ™ | el A v ! y B
;__d_.-;-:nu . {—1] il o J-"—;-_—dj", (BJ

Options:

61547529865, 1
61547529866, 2
E1547529867. 2
615475295868, 4

Question Number : 143 Question Id : 6154757660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

61547529869, 1
61547529870 2
E1547529871. 2
1547529872 4

Question Number : 144 Question Id : 6154757661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

|

: f‘ s Trale b

el @ SedsSS (D)

2 (4) 5 - (3)
Options:

61547523873 1
E1547523874. 2
E1547529875. 3
E1547523876. 4

Question Number : 145 Question Id : 6154757662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S @ gaSbe o)
Options:

BE1547523877. 1
E1547529878. 2
B1547523875. 3
61547523880, 4

Question Id : 6154757657 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label @ Comprehension
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Sub questions

Question Number : 141 Question Id : 6154757658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

IME 5 A ATRATHE H ARG U AT F>T 72

(1) TS TN (2) T TR
(3) "ol WEw (4) 39 UEE
Options:

E1547523861. 1
B1547523862. 2
B1547523863. 3
6154752395864, 4

Question Number : 142 Question 1d : 6154757659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

34:—1H ?[ ;ﬁﬁ_lﬂ 0 '34_{ W off .

(1) == 2 e
(3) AT Sjferae (4) el 7,
Options:

E1547523865. 1
E1547523866. 2
E1547523867. 3
B1547523868. 4

Question Number : 143 Question Id : 6154757660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) e (2) STEAN
(3) =E (4) =g
Options:

E15475238659. 1



E1547523870. 2
B1547523871. 3
B1547523872. 4

Question Number : 144 Question 1d : 6154757661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T S 91 T8

= -

(1) FHiTerEr (2) FiE
(3) Hg (4) pris)
Options:

E1547523873. 1
E1547529874. 2
BE1547523875. 3
B1547523876. 4

Question Number : 145 Question Id ;: 6154757662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

H]:]._;El-:] Iy h _‘Tﬁ HH Ff"Tllf:r :

(1) it (2) £ |

(3) (4) 15

Options:
B1547529577.

E1547523878.
BE1547523879.
B1547523880.

[ N

Sub-Section Number: 3
Sub-Section Id: 615475339
Question Shuffling Allowed : Yes

Question Id : 6154757663 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension
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Question Number : 146 Question Id : 6154757664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

BPIC
13,5 (2 s (D)
L, @ gleds ()

Options:

61547529881, 1
61547529882, 2
61547529883 2
61547529884 4

Question Number : 147 Question Id : 6154757665 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

— |

g J>
13,5 @ et (3)

Options:

61547529885, 1
61547529886, 2
61547529887, 2
61547529888 4

Question Number : 148 Question Id : 6154757666 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



o (2) T (1)
@ pr (3
Options:

61547523889, 1
61547523830, 2
E15475298391. 3
E15475298392. 4

Question Number : 149 Question Id : 6154757667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

; lh‘ i " ‘ = el
9,0 (2 A% (1)

YN

&

Options:

615475295893, 1
61547529894 2
61547529895 2
61547529596, 4

Question Number : 150 Question Id : 6154757668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-
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P (2) — (1)
g @ d;s (3
Options:

B1547523897. 1
615475238398, 2
615475298399, 3
61547523300, 4

Question Id : 6154757663 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH
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Sub questions

Question Number : 146 Question Id : 6154757664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T H TR

(1 2 a5
(3) ErE (4) e
Options:

61547529851, 1
E1547529882. 2
B1547523883. 3
61547523884, 4

Question Number : 147 Question 1d : 6154757665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“geg’ s S O AT
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(1) T3t (2) |
(3) Ew @) T
Options:

61547523885, 1
E1547523886. 2
E1547523887. 3
61547523888, 4

Question Number : 148 Question Id ;: 6154757666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘FIOerdT |1 THE W
(1) @ (2) R
(3) IH (4) Ll

Options:



E1547523889. 1
61547523830, 2
61547523831, 3
615475239832, 4

Question Number : 149 Question I1d : 6154757667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qysg S " AR

(1) @ (2) w
(3) I=m (4 T3
Options:

515475238593, 1
61547529834, 2
61547529835, 3
E15475238396. 4

Question Number : 150 Question Id : 6154757668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A MEE 0 2172

(1) =g (2) ==
(3) EEE (4) EEA ]
Options:

B1547523897. 1
61547523838, 2
615475298399, 3
61547523300, 4



